
Fio tee vaues &}- 

Sin IS (i cos l oSs i) tan 7S 

2 Ci 24) 
2 

tan (4s+0) 1t an 8 
-tan® 

2. Pove tuat 2 

3. Frm tte fov mula 6} Sin (AtB) Aaduce tte kormulae dt 

Cos CA+B) and cos (A-B, 
fas(te aulT argle 

4. Sn =. ces A2 and , B ae pasete auut arge, 

f ttue ralue dHX+ B) 

5. Prove tte hotouoing iacnthtes 

)siné3 32' sin 3 32+ stn 26'2 8'stn s 628 3 

i) 1+ tan®, ton sec 

i) cos ISino tan 3 tam 3 
coSto+ Sin1o 

iv) tan 3Atan24 tonA= tam 34 - tam24- fanA. 

),tan so tam 4o+2 tan 10 

isecd+A) 
Sec Asec B 

-tamod tevmB 

. A+B = 22s° shous tat 
t+cA 

T. 9P Stn(a+*): qsn (a+), show ttat, tads A 
ptas7-2 

7mn2AfanA 



6. Fi ttie velue &9 ec (- - sin(e t ) 

9 tan- tan =a an cy - c b, Frove ttat-

t (-) 
10. S tan tndcosd peie ttat 3 tan(a)= 2tand, 

2toS 

1, F3 te marinun a mumjmum ruuAS D+ SosU+ 

4 si0 +S, As 1o, ard8 respetivesJ 

12. Si (+- si-(%- Si , 

13. CosA + ca(A+B) +co CA-)= 

14, A pOsitie acula amgle has been 8tnde ito 2 paots, 

otuose tagents ae k ard FR tue 

S.Y o{A+Bsine+D)= cos-) sinCe-), Suo tat: 
angle, 

c&tA AB. cOe CSD. 

6. ar® be 2 7eal quantties, prove that tte Scrultan 

eo us eauatismS + 2 a sosA-LOS PoSsess mo 

tan ISs- tan t1s 
19. tam 25 a, Prove that 

+tm sstanis° 2a 

9. tan (d-B) 
Si 

so tat tomtemB-tay 

b sec=¢, expres re NDu dq tan(a+B)interms a, b,C. 

20,9 2 cosA = Cos B+tes B a s2 SmA= Sin8-si B, 
poove tat Sin(A-8)= + 
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